Q.1: JSuil duilghul yuac dle Gl dlue .

Find the area of the label of
a cylindrical juice can if its base

radius is 2 cm and its height is

10 cm. Round to the nearest tenth.

Use 3. 14 for m.

Learning Outcomes Covered

o MAT.3.11.03.004
o MAT.3.11.03.007
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188.4 cm?

251.2 cm?

Mark(s): 5/5

IS8 Lilghao) e ke (el dala
ey 2 cm Ll 8 Ciuas
B (e g il Y B T

-l 3.14,






Q.2: dygluwie Slelns W d gy yoys.

A spinner with three equal sections,
labeled A, B, and C is spun twice.
Find the probability of the spinner

landing on letter B at least once.

Learning Outcomes Covered

o MAT.3.11.03.004
o MAT.3.11.03.007
o MAT.4.03.01.005

Mark(s): 0/5

Jaad cdugluda Cilolad 4506 41 g
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Q.3: ilguine JSuiy guailio udy> HLisl . Mark(s): 5/5

Two different letters are randomly Oa (lgls JCE pailda s L
selected from the letters in the word .SALEM 4.k gz. 8393 gall ¢
SALEM. Find the probability that the il oL i Jg) 05 ¢ Jlais
first letter selected is M and the A dp Sl

second letter is A.

Learning Outcomes Covered

o MAT.4.04.02.002



Q.4: djdso A8 debs cld)] 4yl (usdl cLadll . Mark(s): 5/5

Find the sample space for the didea 23 daldd ol Aol sl pliad
experiment of tossing a coin twice.
Note that the results of tossing AL gl Bgua a SR daddd ) gl

a coin is an heads or tails.

Learning Outcomes Covered

MAT.3.11.03.004
MAT.3.11.03.007
MAT.3.11.03.009
MAT.4.03.01.001
MAT.4.03.01.003
MAT.4.03.01.005
MAT.4.03.01.007
MAT.4.03.01.008

O O 0O 0O o 0O 0 o

(448 cds) (A8 <3y ) ¢ (Bryeaa cBy )
(Heads, Heads), (Heads, Tails), (Tails, Tails)

(A58 ALS) (B3 ALS) (B30 eB50)
(Heads, Heads), (Tails, Heads), (Tails, Tails)

(RS AL0) (5 g0 AES) ¢ (LS 15y 90) < (Br3i cB3)

| (Heads, Heads), (Heads, Tails), (Tails, Heads), (Tails, Tails)



(Bya AiS) (LS (3 3ua) ¢(Byyea (3)50)
(Heads, Heads), (Heads, Tails), (Tails, Heads)



Q.5: dilgluw)l paz>. Mark(s): 5/5

Find the volume of the cylinder

ol J& 3 daudagal) Lijghau) o

shown in the figure below. Round to Byde e ga
the nearest tenth. Use 3. 14 for m. .l 3.14
2cm

Learning Outcomes Covered

n

o MAT.3.11.03.002

87.9 cm?

62.8 cm?



141.3 cm?



Q.6: dilglouw)) Al adowd! d>bus . Mark(s): 5/5

Find the total surface area of the (o Aauagall dijghudl A<l mbald) dal
cylinder shown in the figure below. Bpde gl ) Bl
Round to the nearest tenth. .l 3.14

Use 3. 14 for m.

3m

A

Learning Outcomes Covered

o MAT.3.11.03.007



100.5 m?



Q.7: bgyzall o> . Mark(s): 5/5

Find the volume of the cone shown ol Jea b zuagal) Jag Aal) a

in the figure below. Round to the Byie e gia bl

nearest tenth. Use 3. 14 for m. 1l 3.14
7cm

Learning Outcomes Covered

o MAT.3.11.03.003

65.9 cm?



56.5 cm?



Q.8: bgyxeall alouw doluwe . Mark(s): 5/5

Find the surface area of the cone JS& A pdagall g Al o dal
shown in the figure below.
Round to the nearest tenth. Bude e g ol
Use 3.14 for m. -mtd 3.14
&
“ /' 3m

Learning Outcomes Covered

o MAT.3.11.03.009

47.1 m?

84.8 m?






Q.9: qlite jguitial ol dolue . Mark(s): 5/5

The surface area of a triangle prism . 25 cm? gyl gi‘blﬁ Jdial mhud)
is 25 cm?. What is the surface area  suladf Jlshi A5 4ildia ) gial prhacd) 4s
of a similar prism with dimensions ?glua‘}“ gdiial) sladf
that are 2 times as great as the

dimensions of the original prism?

Learning Outcomes Covered

o MAT.3.11.03.010

50 cm?

o

100 cm? :



Q.10: Ol oyl Jhas Gulibe. Mark(s): 0/5

The following table shows the Lgda b Slatt) skl gy AL
lengths of games in an amusement
park.
Height (m) The Game sl (m) £
Viper 28 L 2
Monster 28 Ui gl) Z
Red Tube 28 yaal) cgaY) 2

Learning Outcomes Covered

MAT.3.11.03.004
MAT.3.11.03.007
MAT.4.02.03.017
MAT.4.03.01.005
MAT.4.03.01.007

O O O O o

Dy

)

The median.

Yl

The mode.



d.
Jlgially B

The median and the mode.



Q.11: lguine gMbiwl . Mark(s): 5/5

A random survey shows that 259, of sl DU e 25% o Alsde £k

students in a class come to school bl dupaal) ) O g s
by bus. Db e lth 600 Jual (3o Al
Predict how many out of 600 coalll dujaal) A g s 4

students of the school will come to

school by bus.

Learning Outcomes Covered

o MAT.4.02.07.002

200

250

100






Q.12: slacll (usSo asgi Jloisl . Mark(s): 5/5

Find the probability of rolling Ao DY) Caga B8 Jlais
a, 1 or 3 or 5 on the number cube Aapade 5 403
when it is rolled. 6 N1 e B Jaad Cilga Al ¢

Note that its sides labeled
1 through 6.

Learning Outcomes Covered

o MAT.3.11.03.004
o MAT.3.11.03.007
o MAT.3.11.03.009
o MAT.4.03.01.005
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Q.13: &cli)l gyl doxe. Mark(s): 5/5

Al Rabie Radio Station asked its BLAY) gmdine (o dae )Y aull Al
listeners to indicate their preference (e «Zileld) EME gaa) ) g laal) agl
for listening to one of three radio ) e
stations, including Al rabie Radio. CF 1geladiad Cpdl) Cpmaiial) (e %€
829 of listeners who responded 2 E.nll'g
declared their preference for Al Rabie  4el) ,a agie)d) o ddaaal) Caaliiiad
Radio. Consequently, the station Adal) ‘f
concluded that their radio was the Sl ol odlel Baylgh cilaghaall

Learning Outcomes Covered

o MAT.4.02.07.003

i The sample is biased and convenience. The conclusion is not

valid.

b.
adba 7 GO . Spata pd (ddigde dalilia dignl)
The sample is systematic random sample, unbiased. The

conclusion is valid.



ool Uy (Bhaata pé dlal) o)) A ddlpde die
Sample random sample. So, the sample is unbiased, and the

conclusion is valid.

d.
a7 L) 1) L daliag Bjaiie digl

The sample is biased and convenience. The conclusion is valid.



Q.14: UMbl dac oS Lis.

The following table shows the results

of a random survey of seventh A

graders about their preferred sport.

Predict how many out of 90 students

would prefer football.

Preferred sport

Number of Students

Football

15

Learning Outcomes Covered

o MAT.4.02.07.002

60

20

n

P

45

Mark(s): 5/5

Dl Alpde g @il U J s
Agishais ) dalyl Jgs A gl
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Q.15: jSyoill dijlia) pasiuy guylioll si. Mark(s): 5/5

The following double dot plot shows ALY daaaal) BIEL zsaiall ALl a

the weights of students rounded to Ca JS (2 alagls iy dujia DL
the nearest kilogram in both grades 1B 5 1A
1A and 1B.

Students Weights (kg) (kg)<=Sall ot 5 gl

Learning Outcomes Covered

MAT.3.11.03.004
MAT.3.11.03.007
MAT.4.02.03.017
MAT.4.02.03.018
MAT.4.02.04.011
MAT.4.02.07.003
MAT.4.03.01.005
MAT.4.03.01.007

O O O O o 0O o o

ISl el slaad) Jacgial) aidiiu)

Use the mean to compare the centers.

- JSyaal) A jlal Janugl) padid

Use the median to compare the centers.



el ddjlaal slhall CihasY) Jaugia addicg

Use the mean absolute deviation to compare the centers.

Sl Ajldal eyl gaall andiul
Use the interquartile range to compare the centers.



Q.16: slacl gusSo cldl].

Amal tosses two nhumber cubes,
each of them with sides labeled

1 through 6.

Amal wins if she rolls two numbers

their sum is 7. Find P(Amal wins ).

Learning Outcomes Covered

MAT.3.11.03.004
MAT.3.11.03.007
MAT.3.11.03.009
MAT.4.03.01.001
MAT.4.03.01.003
MAT.4.03.01.005
MAT.4.03.01.007
MAT.4.03.01.008

O O 0O 0O 0O 0O o o

B

Mark(s): 5/5
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Q.17: lguire JSuin duol>j 8)S jLisl.

A bag contains 4 red marbles,

5 blue marbles, and 6 green
marbles.

If the marbles are identical and

a marble is selected at random.
Find the prpbability that the marble

is not green.

Learning Outcomes Covered

MAT.3.11.03.004
MAT.3.11.03.007
MAT.3.11.03.009
MAT.4.03.01.001
MAT.4.03.01.005

O O O O O

11
15

10
15

Mark(s): 5/5

Colan Balaj SIS 4 o Lyha

cslpad dala) SIS 6 g sldy) dalaj ¢

Gaalaj S LIS Al Alblale il <
o [ =
celpad daalajl B8N 55 Y ¢ Jlais






Q.18: doaziuall diull g i da>.

A store sells 3 types of coffee:
Turkish, Arabic and American.

To know the preferred type of store
customers, the store workers survey
100 customers at random about
their favorite type of coffee.

Determine the type of sample used.

Learning Outcomes Covered

o MAT.4.02.07.004

Aaliag Buale dial

Mark(s): 5/5

daupg 4S5 18ggll) Ga plsil 3 jalial)

4
ki« jalial) sdas e Juakal) gl
I jald) des (e 100 (gl jadal

Bggdl) (a Juaial) agegi ol
Aadiioal) dial) £

The sample is biased and convenience.

b.

The sample is systematic random.

Sample random sample.



Ao sh doladal die

Voluntary response sample.



Q.19: uislai jLisl aly ol Jlaisl. Mark(s): 5/5

There are 3 oranges and 4 apples in AgSlh dlus b lalii 4 g Ay
a fruit basket. Salem selects a piece Lilgde dgSlall (pa dakad Al
of fruit at random (Didn't put it back Ca dadid ()raa JBA) o (dleall Loy
in the basket) then Hamdan selects Ll
a piece of fruit at random. Find the il Los) a5y o Jlaia

probability that two apples are

choosen.

Learning Outcomes Covered

MAT.3.11.03.004
MAT.3.11.03.007
MAT.3.11.03.009
MAT.4.03.01.001
MAT.4.03.01.003
MAT.4.03.01.005
MAT.4.03.01.007
MAT.4.03.01.008
MAT.4.04.02.004

O O O 0O 0O 0O 0O 0 o
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Q.20: (2l JlaisVlg ybaill Jlaisyl.

A coin is tossed 20 times and it
lands on picture 10 times.

Find the theoretical probability and
the experimental probability of the
coin landed on picture and based on
the results decide which of the
following choices represents

a correct statement?
Learning Outcomes Covered

MAT.3.11.03.004
MAT.3.11.03.007
MAT.3.11.03.009
MAT.4.03.01.001
MAT.4.03.01.003
MAT.4.03.01.005
MAT.4.03.01.007

O 0O O 0O 0O o o

il Jladay) = g_tuﬁ'l Jlaial|

@B JLaY) > o al JuaaY)

Mark(s): 0/5

s CaBg g 5ia 20 duidea A8 Akt
e 1(

g8 radll Juia¥ly (il Jla
2 e slisg Bgall o dlsa
flasa Bl Jia 4000 Gl

Experimental probability = Theoretical probability

Experimental probability < Theoretical probability



Ghill Jliay) < (s adl) Jlaiayl
Experimental probability > Theoretical probability

il Jlda¥i x 2 = ol JlaiaN)
Experimental probability = 2 x Theoretical probability



Q.21: slaci usse d>)>) ailiidae . Mark(s): 5/5

Find the total number of outcomes Al el caga dajan =l s les
from rolling a number cube with et LA 6 A1 (e ?EJS’H (haad
sides labeled 1 through 6 and .NASER 4.k

choosing a letter from the letters of

a word NASER.

Learning Outcomes Covered

o MAT.4.04.02.001

24

11

18



Q.22: duldl OMaiedl. Mark(s): 5/5

The following graphs represent the Al el Guas Jia A dsl o

same prices for a stock over the i\ Pevon| I E G
years: .2000,2002,2004,2006,2008, :
2000,2002,2004,2006,2008,2010. DY daladioN JuadY) oa iy Ja
Which graph is the best to be used $3yus (S5 al agal) e ‘.—.’3 bal

to show that the increase in stock

prices was not significant?

Learning Outcomes Covered

MAT.3.11.03.004
MAT.3.11.03.007
MAT.4.02.03.017
MAT.4.02.03.018
MAT.4.03.01.005
MAT.4.03.01.007

O O O O O O
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m 2000

= 2006 ®m2008 m 2010

m 2002 = 2004

2006 m2008 m 2010

= 2000 m=m2002 = 2004




AED

5.25
4.75
4.25

1.25

=1

0.75
0.5
0.25

mZO00 = 2002 wWm2Z004 w2006 mZ008 m 2010




Q.23: bgysel duilz)l dolwell . Mark(s): 5/5

Find the lateral area of a cone with oo il by Jag Aal duilal) dalisa
a radius of 2 m and a slant height of 10 m Jilal) de il
10 m. Round to the nearest tenth. Byde e ga wfl |,
Use 3. 14 for m. 1l 3.14

Learning Outcomes Covered

o MAT.3.11.03.004
o MAT.3.11.03.009

a.
94.2 m?
i 3
| 62.8 m? |
C.
125.6 m?
d.

113.1 m?



Q.24: §)SJl pxo. Mark(s): 5/5

A ball its radius is 3 cm. Agaas 334l .3 cm ki i
Find its volume. Byde (e ogs wfl
Round to the nearest tenth. 1l 3.14

Use 3. 14 for m.

Learning Outcomes Covered

o MAT.3.11.03.004

267.9 cm®

n

113 cm® |



Q.25: 5Slxoll dolaziwl ;Soy AU 23kl si. Mark(s): 5/5

A restaurant is giving away one toy dalids lall 4 Jual (ja Bas)y dsal gl
of 4 different toys with its cheldren’s Y| culs 3l . Lgard 1) Jaky) ¢

meals. If the toys are given out gl
randomly. (5 BlSlaal dauiiof ey 400
Which of the following models can el clag (e 6 aa i A

be used to simulate which toys
would be given with 6 children
meals?

Learning Outcomes Covered

o MAT.3.11.03.004
o MAT.3.11.03.007
o MAT.4.03.01.005
o MAT.4.03.01.007

Gy 6 daleal) €. (pfiidea a8 Jadb olal)
Tossing two coins. Repeat 6 times.

e 6 dolanl) )€ Lisna 05 akid S0 oA

Tossing three coins. Repeat 6 times.

(Clpa 6 dolanl) )< Agluiia alud DG L) Laida [jlgs L asiial

Use a spinner divided into three equal sections. Repeat 6 times.



e 6 dilanl) o] L a<a olal)

Tossing two number cubes. Repeat 6 times.



